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II Year Commerce Examination, 2018

ACCOUNTANCY AND STATISTICS
Paper-1
(Income Tax)

Time : Three Hours
- Maximum Marks : 100

PART - A (@uE-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
At e Sferd | T T o ST U et ¥ St 7 2
|t g & ofF TOE ¥

PART - B (@Us-%) [Marks : 50
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

TIF 3T § Weh-Ueh W9 T4 g0, o Ui 3o hifo |

WIS W¥A 1 I 250 Weal W aferes 7 2
it el % ofer wHE £
PART - C (@us-1) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.
1% N ¥ IS | Yook Wed o1 SR 300 Vi) § s 7 21 |
Tt Wl & 37 THE ¥ |
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PART - A
(@vs-31)
UNIT -1
(g&T3-1)

What do you mean by assessment year ?

=t Fayfor a6 @ 1 39 ®7

2. What is casual income ?

STHIEHe ST & § 7
UNIT - 11
(gehTS-11)

3. Ramesh joined a company on Ist June, 2014 on a monthly

salary of ¥ 27,000. As per terms of employment salary
becomes due on first day of the next month and is paid on
10t day of the every next month. Determine the grass salary
for the assessment year 2015-16.
WY A TF A F 1 A, 2014 H 27,000 T AHR IqT W
Sttt T 1 | AT T STER SHDT 39 A HIE F Tl
arirE F 3 B & for T 19 I Y fRe S ¥ ) -
frerftor ad 2015-16 %ﬁqwémﬁmmaﬁmn
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4.

Shri Avinash Garg is an officer of Rajasthan Administrative
service in the pay scale of T 5,000-200-7,000 since 1%t June,
2012. Caleulate his total basic salary for the previous year
2014-15. &
4t ST T T yorater da § u afued ¥
[, 2012 | 5,000-200-7,000 ¥ F FqTHA H Fa § | 71 T
2014-15 % foTe 379 F& g1 a7 F T Fifew
UNIT - 11

(F®TE-TIN )
What is normal rate of depreciation on patents ?
U= W W B 8?2
Wirtten down value of two machines were ¥ 5,00,000 on 1%t
April, 2014. One machine was sold on 315 March, 2015 for
< 3,00,000. What would be depreciation deduction for the
previous year 2014-15 ?
2 AT T FA W Ge 1 3, 2014 FY 5,00,000 T 71
31 W 2015 1 T HYH 3,00,000 T F 39 & | TS 2014-
15 & i g =1 et et suers ani?
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UNIT - IV
(FE-1V)

7.  What do you mean by set-off of losses ?
gt =t gfd | @ o €7

8. How is speculation loss set off ?

T F Tl 1 H sfafad fean s g2
UNIT -V
(3FE-V)

9. What do you mean by an active partner in case of a firm ? If
remuneration paid to inactive partn'er can be allowed as
expenses ?
@_mﬁﬁmﬁmmﬁwmﬁ%?wﬁfﬁu
AR 1 fed T TRl F o & e S
Tehd! 82

10. What is maximum rate of interest on capital which can be
allowed to partners u/s 40(b) of the Income Tax Act, 1961 ?
STIFT SUEET 1961 F 9T 40(b) F FTER TH 5 TRl

3 Ioft T R T A1l SISt kY SR <X I §1 el ¢ 7
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PART - B

(@ve-9)
UNIT - I

(3FTE-1)

1. Whether the following are income ? Give your answr in Yes

or No.

(1)  Ram received ¥ 10,000 in cash from his grandfathers
as gift.

(2) Received T 5,000 from the winning of Rajasthan
State Lottery.

(3) Sudha earned T 5,000 from the business of
smuggling.

(4) Ram purchased a machine for ¥ 50,000 in 2003. It's
market value on 315 March, 2015 was ¥ 2,00,000.

(5)  Ram borrowed ¥ 10,000 from Neeraj on which the
interest due for previous year was ¥ 1,500. In the
previous year. Ram paid ¥ 2,500 to Neeraj.

(6) The employer deposited in the provident fund of
Radha in the previous year ¥ 4,000.

2801/9940 5 PToO.




s FreAfafaa o #2 & @ § sw i
(1) T H A & | IR F 10,000 X T W gL
(2) T T et ¥ $H % 5,000 ¥ W ¥
(3) [ TEHY F FE H 5,000 T @t T g3
(4) T 3 =Y 50,000 T H 2003 # TR ot 31 "9,
2015 ! SHH TSR Y 2,00,000 X 41
) trq'l’c'nﬁmlﬁ 10,000 T 3uR fod forg @ W H
I % 1,500 € 29 €I W A T F AR H
2,500% IHE |
(6) Qe ¥ wfrs iy @R § sed fEe ¥ T ad o
4,000 STHI T |
OR ( 3t¥ar)
What do you mean by income deemed to be received in India?
e T g e S e e § o it
UNIT - II
(gaTE-11)

2. Determine the annual value of the houses from the following
information if Rent Control Act is applicable :
ﬁqﬁ@aw%aﬂaﬂmwﬁﬂwﬁ?@mm
af faprn FRiE0 A ] R
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I House 1II House

X 3
Municipal value 12,000 24,000
Fair Rent 10,000 18,000
Rent Received 8,000 12,000
Standard Rent 11,00 32,000
Municipal Tax paid by house owner 10% 6%

OR ( 31er@m)

Neha Mangal has let out her house since 1% Jan, 2005 at a
rent of ¥ 5000 p.m., During previous year 2013-14 she has
claimed unrealised rent for 3 months while determining annual
value of the house but during previous year 2014-15 rent of 2
months out of 3 months was realised. If fair rent value of
house is ¥ 54,000 then find taxable income related to bad debts
recovered from house property.

&I W ST TH FH 1 T, 2005 @ 5,000 % wfwre
WWWEW%IWHEFZOB—MﬁWWEﬁW
mﬁwwﬁsm%wﬁmﬁmmmmﬁ
menmﬁnaa'ézomqsﬁs?smﬁ@zmamm
a&aﬁw%lqﬁ:mmmswoo?uﬁﬁda?ﬁ
A WA W ST Wi F g 9 aget ¥ gy 4
A 3
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UNIT - IIT

(gaE-111)

What is capital asset ? Explain the significance of its definition

in the income tax act from the point of view of taxation.
it gefa I §7 s R § FE 1 g d TER
AR Ft TefeRar e FHifsL |
OR ( 3{ar)
Write notes on the following :
(i)  Short-term capital gain.
(i) Capital gains in the case of cmpulsory requisition of a
capital asset.
(i) Transfer of capital asset.
(iv) Cost of acquisition of capital asset.
(v) Indered cost of acquisition of capital asset.
(vi) Long-term capital gain.
() U Yo @M
(if) iﬁm%aﬁaﬁﬁmmﬁgﬁwu
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(i) IS Teufa @ TR
(iv) O W= = wiRg @
v) Ot wefa wifia %t geeites @
(vi) e ISt @y

UNIT - 1V

(ZFE-IV)

4. Discuss quantum of deduction allowable u/s 80GG for house

rent ? | :
M1 80GG ¥ #ehT Fortrdl & wearer  weftenrd =2t =1 = fy
@7

OR ( 3teaT)
Gross total income of an assessee is T 1,80,000. He has hired
a house on a rent at Jaipur for which he pays a rent I 1,500
p-m. What deducti(-)n will be allowed to him from his gross
total income in respect of rent paid by him ?
T ST i Wehel el 3 1,80,000 T 31 393 9T /A *
FeTe PR & weh T fertr R @ ¥ oy T e 15002
mﬁww%lﬁmﬁmﬁﬁ T g T
fm % v 4 forett wieht ey @i
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UNIT - V

(z&E-V)

5. What are the differences in the assessment of individual and
HU.F. ? :
mﬁﬁﬁﬁaﬁmﬁamﬁam—ﬁaﬁmﬁwm

g7
OR ( 3teraT)

Discuss the incomes which are not taxed as income of Hindu
Undivided Family.
ﬁﬁaﬁmwﬁaﬂﬁqmmﬁqaﬁqﬁaqﬁmaﬁm
¥ w9 L TE T @ R

PART - C

(EUE-H)

Lo UNIE =%
(gE-1)

1. Assessee have been divided into three categories on the basis
of residence. Expalin how these categories are defined and
how they affect the tax liability of an assessee ?
ﬁm%mmmﬁqmﬁﬁ%ﬁ&nﬁﬁlﬁ
ot = afeeni 3 g fodre g o o R 3
3 o e B i el €2
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UNIT - 11
(3T3-11)

2. Mr. X who is employed in a company gets I 6,000 p.m. as
salary. He has been provided with a unfurnished house by his
employer for which the employer pays a rent of T 2,000 p.m.,
but recovers only ¥ 1,250 p.m. from X. During the previous
year he received the following incomes :

(i)  Dearness allowance @< 1,200 p.m.

(ii) Three months advance salary (including dearness
allowance) which he received on the last day of
previous year.

(i) Bonus @ ¥ 8,000 per annum.

(iv) Entertainment allowance @ X 7,500 per annum since
1% April, 1984,.

(v)  Pension from former employer @ X 600 p.m.

(vi) A sweeper has been provided to him by his employer
for the proper upkeep of the house the salary being ¥

125 p.m. is paid by the employer.

2801/9940 11 RT O




(vii) He is also prc.)vided with facility of a motor car with
driver of 1.6 litre (CC) by his employer which is used :
by him for both official and private use. All the expense
of car are borne by the employer.

(viii) Children education allowance for two children @ X 200
p.m. per child.

(ix) He has to work in unnatural climate of mines in
Dhanbad. Hence the employer has given him
underground allowance @ Z 1,000 p.m.

(x) He was givena wrist as a gift by his employer on the
occasion of republic day celebration whose value is ¥
4,500.

(xi) The company has advanced an interest free loan of ¥
50,000 to Mr. X for pufchase of a motor cycle on I-
12-2014. Mr. X has been regularly repaying the loan in

instalments of T 2000 p.m. at the end of each month.

Compute taxable income from salary of Mr. X for the
assessment year 2015-16 assuming Mr. X has paid a sum of
Z 1200 as tax on employment during the previous year.

2801/9940 12




ﬁm,iﬁmmﬁﬁwm%méms,ooo?m%l

mmﬁwa@mwm%mmw

%ﬁﬁ%ﬁqﬁﬁmz,ooo?mmm%,mm

ﬁmuso?maﬁam%maaéﬁﬁﬁwﬁfﬁaa

3T 9IS g% -

() TRME 9w 1,200 T e

(i) aﬁﬂmmméﬁw(ﬁﬂ@ﬁmﬁ)ﬁﬁnﬁaﬁ
& afam fe wra gan

(iii) =9 8,000 T T |

(iv) 1 37, 1984 & TS oy 7,500 ¥ wfead |

v) ' Yage et & Y9 600 T e

(vi) wﬁmw%mﬁmamwwm
gan%ﬁmméa?ns?mﬁ?ﬂmmmm
gl

(vii) 3% 3 frlremr @ 16 (CC) X *t %R = wfeq
%ﬂﬁﬁtgﬁ%ﬁwwﬁnémwaﬁm‘f%
mw-mwﬁsﬁ%ﬁf%ﬁﬂvﬁm%iw%mm

[EREAR-GEC e ek
(viii) <1 s & form =t foraqor HT 200 T gfoae 1 = 4
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(ix) ﬁ@ﬁﬁmmﬁmﬁﬁmmm
%leﬂa:ﬁﬁmgm,ooo?uﬁmmﬁatﬁsfmmw
fean < 1

(x) mmammmmﬁmm
4,soo?ﬁ@aa—qéwﬁﬁzﬂl

(xi) Wﬁmmﬁﬁawﬁa@ﬁaﬁ%mso,ooo
?mmﬁmm%vu—zomﬁﬁm%laﬂm
mmgﬂwzoooiﬂmﬁaﬁﬁmmaﬁ
e fafa i Fraf@ ST AR T |

2015—16%m—ﬁmaﬁ%mﬁ1maﬁaﬁsﬁﬁ$aﬁ

aﬂ-zﬂw‘qaﬂu%mﬁ@mﬁﬁﬁﬁsﬁmﬁwaa

-a}mmoo%ﬁmmmmsmwwﬁ\w%u

UNIT - III
(ZeTs-111)
3. The particulars of income of the proprictor of an industry Shri

Ram Dhan for the year ended 31% March, 2015 are as under:

31@,2015aﬁmaﬁaﬁaﬁ%m@m%;wﬁ

a’rrmmﬁmfaamauwﬁ%:

2801/9940 14




Profit & Loss Account for the year ended 31 March, 2015

Salary to staff
Office expenses
Travelling expenses
Entertainment expenses
Expenditure on scientific research
Preliminary expenses
Patent right purchased
Advertisement expenses
Depreciation

Provision for bad debts
Sundry expenses

Net profit

Gross profit

Bad debts recovered

2801/9940 \ 15

%
2,50,000
43,000
40,000
50,000
72,000
45,000
1,45,000
2,00,000
1,60,000
60,000
1,60,000
8,20,000
20,00,000

40,000

20,40,000
o VY
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Compute taxable income from business for the assessment

year 2015-16 keeping in mind the following additional

information :

(1) Salary includes T 8,000 paid to a totally blind
employer.

(2) Travelling expenses includes daily allowance of
20,000 paid to an employer who was sent 1O
Mumbai. He spent 8 days in Mumbai.

(3) Advertisement expenses includes ¥ 75,000 being cost
of 25 articles given as present for sales promotion.

(4) The whole amount of the premliminary expenses was
spent on expansion activities of the industry 'during the
current financial year.

(5) The actual cost of fixed assets is T 15,00,000.

(6) Sundry expenses includes a sum of I 28.000 which
was paid through crossed éheque. :

(7) Bad debts recovered include a sum of Z 15,000
which was not allowed as bad debts by the assessing
officer two years book.

2801/9940 16




(8)

Depreciation includes a sum of ¥ 40,000 for cost on
sale of machines and balance is depreciation for other
types of assets. The written down value of the
machine in the block as on 1.4.2014 was ¥ 10,80,000.
Out of these machines, one machine of which
opening WDV was T 3,20,000 was sold for C
2,80,000 on 1.7.2014 at a loss of ¥ 40,000.

Frfafen sfifts gemell # o & ey gu a-frako a4
2o15—1e%%rqwﬁm—%mﬁmﬁhﬁ:

(M

a9 § TF ofa: oY weEd F e w39 8,0002
wHe 1

() ¥ = § T FHEN R g S w20,000 T
éﬁmwaﬁﬁa%lﬁaﬁﬁg@mﬁwsfﬂ
EoicRcof

() o =@ F fowa gf ¥ Yo ¥ w9 ¥ @ 0 25
THEI H AN 75,000 T Gt §)

(4) m&wmaﬁm{ufwwaﬁm%ﬁmn%g
T T FRFET Wemg F: W Y

(5) werd weafel it @ 15,00,000 T
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(6) fafaw =73 § 28,000 T * H U ufn wfwfea 2
e ram T@ifea =% g/ fwan T an
(7) == %O Wiftq #H 15,000 ¥ H1 A HO A IR S
o erfeenrd g1 < 9 g RO % w9 H Wi I
foan T an
(8) & =i Ul # 40000 T AN A=A ¥ gE B F T
¥ ¥ aur 9w U o wmfedl W Fw F ey H )
Y % W H 14.2014 1 AfafEd geq 10,80,000
2 o115 W A @ T e s smfatad e
13,20,000 ¥ 1, 40,000 T ®T BT W 1.7.2014 w1
2,80,000 H o9 & A |
UNIT - 1V
(FFE-1V)
4. From the following particulars, calculate the taxable income
and amount of tax payable by Mr. Sushil for the assessment
year 2015-16 assuming that tax deducted by the employer

from salary is ¥ 21,600.
2801/9940 18




4
Salary per month 50,000
Dearness allowance per month 20,000

House property is let-out on a monthly rent of ¥ 20,000. The
annual value of the housé property is ¥ 3,00,000. Municipal
tax paid is ¥ 30,000 for whole year. Interst payable on capital
borrowed from LIC for the construction of the house for
current year is 28,000 ¥ Re-payment of house building loans
taken from friends (interest free) is T 5,000 and from life

insurance corporation is T 30,000.

4
Interest on Savings Bank A/c 31,000
Income on Master shares of UEL 3,000
Interest on P.PF. A/c | 2,000
Income from units of Unit Trust of India 4,000
Life Insurance Premium 6,000
Contribution to Public Provi_dent Fund 6,000
Deposit in account under national savings
scheme, 1992 _ 10,000
2801/9940 19 PToO.




Interest accured on N.S.C.'s VIII issue 4,000
STCG on sale of shares on which security

transaction tax is imposed 40,000
Share of profit from association of persons where all members

are individual and tax paid by AOP by normal rates of income
tax. 20,000
e fgao 9 sﬁgvﬁaﬁm—ﬁuﬁmaﬁ 2015-16 % AT

H-ArE m@hmﬁm%m@ﬁﬁqﬁﬁvﬂw
: %Wﬁﬂzmoo?aﬂaﬁﬁaﬁrﬁ% :

X
ERER I LIS 50,000
HEME W WiaHE 20,000

mmﬁzo,ooo?mmmﬁmwéfré%lmwﬁ
w1 it e 300,000 ¥ &1 R o F1 AR P IR
30,000?uw%ﬁuﬁ%mmmma&mzapooi
mh%uwmﬁ%ﬁi@ﬁﬁ@mﬂﬁmm%ﬁ
m%s,ooo?amﬁaamsﬁaﬂﬁmﬁ'mﬁfwhﬁm

¥ 30,000 T o foRA |
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AfET e @[ WA=

U.T.I. % Master Shares T 379

TET F9a AT 1992 & @ § S

T s=a-93 VI issue W fSd =t

91l % forsra & srehret Ot o, fra w wfavfa
FAER F T 7

AOP @ v # fewmn i w+ft =afe & 9 AOP ™

WA Y F AR
s UNIT - V

(3FE-V)

31,000
3,000
2,000
4,000
6,000
6,000

10,000

4,000

40,000

20,000

5. A, B and C are partners in a firm sharing profit in the ratio

of 3 :2: 1. Firm's P&L a/c of the year ending 31 March,

2015 revalued a net profit of 1,00,00,000 X (including Z 1,50,000

2801/9940 21

e

PT.O.




by way of sale and purchase of" securities held as stock in

trade on which ¥ 5,000 is paid as security transaction tax and

not deducted as expenses) after deduction of the following :

(i) Salaryto A¥ 1,80,000;

(ii)v Rent of building owned by A ¥ 1,20,000. Firms office
is situated in this building;

(i) Commission paid to A, B and C ¥ 1,00,000, ¥ 3,00,000
and ¥ 5,00,000 respectively.

(iv) Interst on capital 20% P.A to A, B and C ¥ 1,00,000, ¥
2,00,000 and ¥ 3,00,000 respectively;

(v) Bonus paid to C ¥ 80,000,

(vi) Repairs and reneuals of building of A ¥ 40,000; firm is
not entitled to repair the building;

(vii) Interst on loan given by C's wife out of her stridhan @
20% p.a. X 2,00,000. |

(viii) Audit fee paid to A's son who is chartered accountant

< 40,000,

2801/9940 22




(ix) Taxi hire paid to B ¥ 10,000. B runs taxi business
independently; firm took his taxi on hire for firm

business;

(x) Firm donated ¥ 20,000 to approved institutions.

Firm's net profit includes ¥ 4,500 (net) interest received on
govrnment securities. Compute firm's total income and it's tax
liability for the assessment year 2015-16.
HATEHTH FH A TR E S 3 :2 : 1 F 9 A an-
I &1 fawrem 3d €131 7, 2015 1 gHE EF 9t 9 @
-1 wr e afirli #t Tem & 9" 1,00,000 T (39
=i wid & w9 5 @t wfayfa & wa fawg ey 1,50,000
% wftafera & foa 5,000 T wfayfa sger &2 %1 wam
fean w1, < =g & w9 H werE €O ) # {s oy vk
FA R :
(i) 3 & a9 1,80,000 T;
(i) &% w@fHE et o H1 fHTE 1,20,000 Z; 39 waq
w1 1 HrEfey ford §;
(iii) 1, 9 Ud | HI e fwman @, wHIeE wEe: 1,00,000,
2,00,000 ¥ TH 5,00,000 ¥;
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(iv) &, 9 TS | & ISt | 20% =it X | = 1,00,000
¥, 2,00,000 ¥ TH 3,00,000 T;

(V) Wl YTaH feRe T e 80,000 35

(vi) 3 & WET I HOHG TS AT T T 40,000 T
A i forierl v @t e off;

(vii) & I T % R W 20 % Tt X/ = 2,00,000 T
T H T A A ST § ¥ % w1 wua 3uR faam,
(viii) 31 % TIF F IT FHHT Yob 40,000 T 3 F ASH

EE THRPR §;

(ix) & I <F SHH! St H R 10,000 T 9 gUF w9 @
2t w1 FRER H & 1 FE A o7 HEt F w9 =t
TA e W off;

(x) 9 g srEifed weemadl = 20,000 T &1 9 faan|

W % Y§ o H W giasfadl W 1 = 4500 T ot

afmﬁa%ltﬁrfaﬁaﬂ—ﬁaméﬁzms—mﬁwmm—

a1 T ShifSw
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